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txample 3 i jstant MEASUIER = © . o < 3817 in. tall ;-
(page 76) 19 measurement A Fhﬁrgﬂ:li:ﬁ:ﬂﬂ"‘ office, the child W i -How
is 414 in. At his last vis! ¥,
much did the child grow” (e of Virginia is 4.5%. This is 2.5% Jegg

14
” lI:i:H ;e“ ﬂ?&fhm;mmarﬁgyhl}l;ﬂm;:m of Rhode Island. What does Rhode
n the 5a
Island charge for sales 1ax”

ample 4 Solve each equation. Check your answer oo sl
pege78) 21§ =100 2.4=98 B3 =

25.28=§ 2. 10 = % 27. = 28. -5 = -101

— 2. =

mple5 29, ~3x =6 Wje=-18  3Mfa=—d 2.9y =1
- ﬂ%w=l4 u—ixﬂlﬂ lﬁq-ém= 12 Jﬁ-ﬁﬂ=3

7.3x=8 38 -Jiy =3 39.4m = 8 40.3n = -3
mple6 4L 5x = =75 42 -7y =28 43, —8n = —64 44, 6p = —120
bl R T b 47. —4k = 52 @ -k=0

49, -4 = Ty 50.9 = 11y SL-Tm =9 52. 9n = -5

Skills 53. Estimation Use estimation to check whether 96.26 is a reasonable solution for
the equation m — 62.74 = 159, Explain.
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